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In this account, we will present an analysis of the basic finite forms of various
verbs ofToda language that have the general meaning of'to be, to become'. The
verbal roots wiy-, li-, ojO-, o-fl-, O'x-, wij&- used individually or in certain
combinations have the general range of meanings of'to be, to exist, to become,
not to be'. Some of them (individually or in combinations) may or may not be
marked for tense. These differences are given in Table 1:

TL Pa Npa Verb Sample Is
1 Existential + wid- wVd-pini
2 Existential (Tense marked) + t Wfd-o-x- WJd-o-ylpini
3 Neg. existential + il- ili-Vni

4 Neg. existential ♦ o'lre- o'rfl-fln-i
5 Neg. existential (Tense marked) + ♦ o're-o'x- o'rfl-oySpini
6 Equational + o-e- o*6-fin-i

7 Neg. Equational + O'X- o'x-Vni

8 to become (Tense miarked) ♦ + o-x- o-yipini
9 to stay, to be present wirte- wttje-

Table 1

1. wid- and wil0-
TGT (p.l46b) lists the alternant forms wijd-/wrd- meaning 'to be' and further
states that "wid- "s found in the 3''' person and wild- in all the others". However,
we find that verbs wiJO- (=TGT's wlfd-) and wl'd- are not alternants but are
individual verbs with complete sets of conjugations - except In 3''' person, where
only wi'd- is used. They have some overlap in their meaning: wi'd- generally
meaning 'to exist' and wnJO- 'to stay, to be present', wi'd- used alone signifies the
meaning of'to exist' without a time reference. TGT (p.l47a) says: 'Although the
reference of forms of this verb is generally present, there are passages where past
meaning is clear.... It would seem that the paradigms are essentially tenseless'. In
our observation, though this verb could be used with reference to a past event, it
specifies 'existence' of something in the past at the time of reference still
maintaining its tenselessness as in the following sentence:

nim pod-s-k o'n ay a*5-§ wi°d-pin-i
you(pl) whetiyoiLcame / that house-In present-PN-DECP
'when you came, I was present in that house'

-M2-

wid- does not enter into the past paradigm - thus *wi'^-s-pini 'I was' is not possible.
However, the regular past/non-past distinction available with the majority of
verbs is brought into this verb by compounding it with the auxiliary ex- 'to
become'. This is further illustrated under the section on verb ex-. In 2'"' person
conjugation, wi'd- is used to denote respect given to the addressee as compared to
the verb wiW-. E.g.,

'Areyou(s0.) staying/living in that village?'
With respect: am-mod-s ni' wl'd-C-a'
Without respect: am-mod-s ni-'wi'lG-y-a'

'How many ofyou are there in that village?'
With respect: n'lm et-o*L am-mod-s w'id-ts
Without respect: n'lm et-o*L am-mod-s w'i!0-ts

Since honoriflcness is not expected with reference to first person, both verbs are
used interchangeably in this person. In 3''' person inflection for both the
paradigms only wi'd- (but not wi/0-) is used followed by -0 representing the PN
marker. It may be noted that PN suffixes that have an initial/- (that corresponds
to the initial p- of PNl set of suffixes) occur only with verb bases that end in 6-
viz., wil9-, 0-&-, OT0-.

Full paradigms of these two verbs are given in Table 2 along with corresponding
forms from TGT (p.l46), v/herever available [in TGT as alternants wijd-/wrd-
participate in a single paradigm].

vfitI- wiie-
Pdmi Pdmll Pdml Pdmit

TGTData T(fj Data
Is wTd-pin-i Wi'd-n W110-fln-i = wilbini Wtldfini wi10-n virtldn
lep wYd-pftn-i wTd-Tm wijo-iVm-i = wilbYmi Wildfimi wli0-Ym Wlldm
Itp Wid-pum-i wyd-um wi10-fum-i= wllbumi Wildiiimi wli0-um wijdm
2s Wi'd-py-i >

widpi
wvd-e Wii0-fy-i= Wilbi wijdA

(<wl(|d-f-y-i)
Wil0-y wljdy

v/fd-b-r Wid-ta v/iI0-s-V WVjdii WII0-S wlldi
3 wrd-o-i >

Widdi

WVdrO wi'd-o-i > wi'ddi WVdi Wi'd-0 Wid

The 3"* person inflection for both wi'd- and wiJO- consists of the base wi'd- followed
by -0 representing the PN marker. In other words, wi[0- does not occur in 3p
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